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COMPOUND INEQUALITIES




Typers of Gompound Inequalities

o"and” —This is when the inequality is written
together and graphs together

o“or” =This is when the inequality is written apart
and graphs apart




Steps for Solving Compound Inequalities
oSeparate into two inequalities

oSolve each inequality separately

oGraph each on the same number line

o|f they graph together, rewrite the answer

cWrite the numbers in order, with the variable between.

o|f they graph apart, write the answer with an “or” between
the two answers

oWrite the variables first in each answer with “or”




What does and mean?

cMeans intersection (makes BOTH inequalities
true)




What doers or mean?

cMeans union (makes one inequality true OR
the other, not necessarily both




Solve and Graph

-4< +3</




Solve and Graph

-2<3 -1<5




Solve and Graph

2 —-3</0r4 -7233




Solve and Graph

-5<3 +4<7




Solve and Graph

-4<6- <8




Write an inequality. solve. then graph

All real numbers that are greater than -2 and less
than 3




Write an inequality. solve. then graph

All real numbers that are less than 0 or greater
than or equal to 2




oA racquetball club charges a $20 membership and
S2 per hour. How many hours per month can be
played on a budget of S50 to $707?

oLet x=number of hours
oCost=20+2x
.50<20+2 <70




°The perimeter of a triangle is between 10 and 15,
inclustvely. If two of the sides of the triangle are 3.7
and 5.2, find the range of possible measurements of

the third side.
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ABSOWTE YAWE INEQUAUTIES




Steprs for Solving Absolute Yalue
Inequalities

olsolate the absolute value

oSeparate your two inequalities
ocOne is positive, the other is negative

oSolve each inequality separately
o-DCMAM

oGraph the solution




GORWAND

°Greater is OR
cless than is AND




Solve and Graph

‘ —2‘ <5




Solve and Graph
| <5




Solve and Graph
| [>5




Solve and Graph: $pecial Carse

| -2




Solve and Graph: $pecial Carse

| |2 -2




Solve and Graph

‘ —5‘<3




2 -3]29

Solve and Graph




3| -4|>18

Solve and Graph




2| -4|<10

Solve and Graph




